Varianta

Kontrola

bez N

bez P

bez Fe

Opakovani

la
1b
2a
2b
3a
3b

la
1b
2a
2b
3a
3b

la
1b
2a
2b
3a
3b

la
1b
2a
2b
3a
3b

Navazka

g

0.52
0.52

0.46
0.46
0.499
0.499

0.52
0.52
0.47
0.47
0.501
0.501

0.493
0.493
0.513
0.513
0.501
0.501

0.633
0.633
0.59
0.59
0.501
0.501

A662

2.011
2.011

1.378
1.431
2.422
2.436

0.851
0.853

0.69
0.697
1.021
1.017

2.533
2.533
1.431
1.425
2.27
2.28

0.226
0.222
0.229
0.234
0.116
0.112

A644

0.63
0.802
0.51
0.528
1.087
1.103

0.359
0.362
0.243
0.244

0.39
0.385

1.202
1.214

0.55
0.543
0.879
0.885

0.174
0.167
0.09
0.093
0.053
0.05

dle vzorce

chla
mg/|

chlb
mg/|

pramér
smodch

prameér
smodch

pramér
smodch

pramér
smodch



prepocet

chl a
mg/g

chlb
mg/g

chla: chlb

dle vzorce:

Ch|0r0fy| a = 91784XA662 - 0,990XA644
chlorotyl b = 21,426XAg44 - 4,650%Age,
nasledny prepocet:

(Vypocet dle vzorce-mg/I * 0,025l1)/navazka-g
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